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Exercise #1: Arpeggios (Root position)

Arpeggios in all inversions
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(note: the 6 in this chord tells us that,

instead of the 7th, we should use the natural 6)
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Exercise #2: Arpeggios (1st inversion)
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Exercise #3: Arpeggios (2nd inversion)
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Exercise #4: Arpeggios (3rd inversion)

¤

?

¤

œ

œ
œ

œn

œ

œ
œ

œ#

œ

œ#
œ

œ

œ

œ
œ

œ

0 3 5

3 0 3 5

4

5

4 5

4

3

2 3

2

œ

œ
œ#

œ

œ#

œ
œ

œ#

œ
œ#

œ

œ

œ
œ#

œ

œ

3

2 4

2

2

0 2

1

7 9

7 10

9 11

9 12

œ
œ

œ

œ

œ
œ

œ#

œ

œ#
œ

œ

œ

œ
œ

œ

œ

3 5

3

2

3 5

4

2

2 3

2

0

2 3

2

0

œ
œ#

œ

œ

œ
œ

œ#

œ#

œ#

œ

œ

œ
œ#

œ

œ

œ

0 2

0 3 0 2

1 4

4

2 5

4 6 4

5 2

2


